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00000000 200 Bese OO 10000000 O0O0OO0OU0OOOODOUOOODOOO
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(1) H= %(p% +p3) + imwz(:v% + z3).

1.2000000000000,20000000000000 ¥(zy,2,) 000000
0000000.000,100000000000004¢,() 000000000
E,=(n+1/2hw000000000. (ie. Hemite 0000000000000
oooo).

Hint. 00O 0O0O0.

2.2000000000000000000,20000000000000 Y(xy,z)
0000000000000.000,00000 v,(x)0 E,000000.

Hint. 0O 0.

[3-2] DOOOOOO00O0
noooao,

1. (00000)200000000000000 Vig=34f-(11-2,)20000000
000,0000000000000000000000.

Hint. OO0O00O0O0O0ODOODOOOO,00000DO0DbOO0O0O0O0OO00OD0oOo’og.

2.00,2000000000000000000,20000000000000
U(r,2,) 0000000000000, 000,00000 v.() 0 E, 000
ooo.
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Hint. Hermite 000 H,(z) 0 n 00 (0D)00O0O (0)ODO.

[3-3] ODODOOOOO

Spin 1 000 200 (000O00) bosond = 1,2000, 00 spin 0000 S; =
(Sizy Sy, Siz) 00D, 850 S, 00000000 up(m=—-1,0,+1) 00,83 0 Sy, O
0000000 v,(m=-1,0,+1)000.

oo0n
@) Sy = 1(1+ Dhuy St = mhtiy,
Savy, = 1(1+ 1A, So, Uy = mhu,,

000 (D00, t,Un = Yjmrm). 000 8 =(5,,5,,5.)0 §=8,+S,00000.

1. 00 u1U1DSQ,SZDDDDDDDDDDDDDDD. oggopoog. d
(3) 281-85= 5145+ 51-Sop +25.5;

000000000 (Sy =8, ++v/—1S,)

2.00 wyoy 0 S_00000D00O0DDOOO,O00 8§46, 0000000000,
j=20500000. 000b00b000ob,0ooon.

3.00,;j=10300,7=00 1000b00.00000bb0bO000non.
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